=
<

a(0 @) (raqd)

3 -2 -1 0 1 2 3
TP n (PCA to beamline)

5
o
o
o
© 107
107k
oo
@ r !
@ [ 1
1__.. b4 --:;01 e
0953 1 0 1 2 3

TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit100PIXLLNO__RECO
—— DQM_V0001_R000000001__Global__mkFit100PIXLL__RECO

= Ip
5 [
F [
_O/ | .
° E
107 :
i
01Q\-Jg,....|....|....|....|....i....
£
x r
11
0921 0 1 2 3
TP n (PCA to beamline)
~ 1
d :
-
o
S
)

L —
|
N

-1 o0 1 2 3
TP n (PCA to beamline)

—~ 1
£ T
S
gN
=) :
o] q
107
olOUg:""i""i""""i""""'
3 : :
hd N H
-1 1

09837 1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


